ERNRAKROBEEIEHRT — 2 XN—ZXBISH—F 201958318 (&) 6EEM6H

m C1Z ¥5%4m%t ‘ [x&] 2 ‘ (] — | & (&) 14000 FHE
[xE£] 1 % :450,000 @  23#&:126,000 3  3#%:63,000 ™  43#%&:45000 M ~ 53 :36,000H
B\ ®RBE mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= N o # 4 | THERE 1:28.3 5-5-3-1 [38.0| — 1 457 | FHFHR (E)
111 |[FTT14A=X 56.0 5 ) | EREER
L:ZFA4T—IK B:A>TLRI—IFR ERGEuL el
olgle|/S7—O=F> # 9 sl?ié“r_*gﬂﬁ 1:(2;).3 1-1-1-2 [39.6| — | 4 | 475 E(g;%;@(@aa)
R:FaSLHN BivvSTA— b @2 77— n
31 7|10| #*VE=H H o4 gﬁ%ﬁﬁ (17:22% 3-3-4-4 [39.2| — | 7 | 459 fﬁ@‘é (#a13)
LHRERY TSRy 2 g
4 2lmara-sn #H 5 ség*g’éui 1(/72?:;1 9-8-8-6 |38.7| — 2 497 ﬁégi (Ee)
R8O BiHLIImIT ) | mmimass
-5 foo5 | FiE— 1:29.8 2223 |39.8| — | 10 | 466 |EAKRF (EE)
5 8 54.0 (2 1/2) (+p) | BEEET

L:exrivH /v B:Vv RUuX o X4— J—HrTp—L

J—ETHALLZX B 4 | BEF 1(;29.? 10-10-9-8 | 39.0 | — 6 435 | EFEX (FEfH)
7€

6 2 54.0 (3) | LA J P NEH
RL:N—HNK B:TAILYAL BH EX
> = _ 4 5 | EEK 1:29.9 6-6-5-5 |39.5| — 3 488 | RURIEE (EM)
7 3| 77=—7zxH 56.0 (74%) (7) | FABF
R b=t RYLERY BIVR INBEHUS
= HEEHE : ~11-11- = EFIR (EE
g8l5|5| MUIA—ILTA b G- i 1(/73?:? R A ’ f;) %;g D
X:A-I>J1)> B:7avX+ > RiL HET77— L
e hEE+ -30. 9-10- 9| — W= (Tl
9 4 AHTY TSk % 5 54_05 1(73059 8-9-10-10 | 38.9 11 ;1_410) E‘Eﬂﬁ%%( )
R:7RIfYL—> B:¥7-—0O WA &7
RS K FF 2 8 : 7= - BAEER (FEh
100797V I/NTN=2 R ¥ 1'?33'5 [ ° (?35) ¥$T§B§( )
R:TUHYARI> K B:Fz)—-7—JILK R Hk
S 4 5 | AUEE 1:30.7 12-12-12-12| 38.9 | — 8 463 | RFIRF (EH)
11|812| 7L/ 7Lk 54.0 (1°172) G | mEHER
R:hTIRIAYT BYAZ2TF4TS #E ER
= s, s, s Att—E : -4-6- — mE=]=)
lgli| FFasyva i 5 2 1.(361).7 4-4-6-11 | 41.5 12 (4:316) fli.iam (st
LiADrFTN—2Y) BFFaINFAr st /bR
® I —F—EBIERL
=="F= 6,8,10,11,1,3,9,4,7,2,5,12
Aol=5r= 6,8,10,11,1,3,9,7,4,2,5,12
G§a=7r= 6,8,1,10,3,11,9,7,2,4,5,12
43—+ — 1,6,8,10,3,7,9,2,5,4,11,12
[ RN
B OB 1 110 714K 1-6 300M e & 1-5 560M &R 1-6-10 8,070
% B 1 1104 1-10 90H | | & = 1-6 830/ | | EE 1-6-10 13,970
6 270M 6-10 6,100/ B H 1-6 740M
10 780M

ABICOVWTRDTEEERROODE. TR LIV,



